MATH 002 EXAM I (Term 071) Page'l of 7
1. Let f(z) = —1+ 573+,

~ (a) (1 point) Find the z-intercept of f.
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o n' (b) (1 point) Find the y- mtercept of f. X~k ts (l, o)
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(€)' (1 point) Find the asymptote of f.
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~(d) (2 points) Sketch the graph of f.
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2. (a) (1 pomt) Change the equation 1n( —1)
y

=4 toits exponential form.
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(b) (1 point) Change the equaﬁic)ri 10° =25 to its logarithmic‘_j'f*or_m”.-
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* . ..3. (4 points) Given that logy3 =a and logy5 =56, find log 36 in terms \
of a and b. : :
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4. (3 points) Express the logarithmic expression log [ (22 :/_Zz) ﬂl in
... terms of logarithms of z,y, z, and w where z,y,z,w > 0. -
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5 (2 points) Find the domain of the Iogaﬁthmic function e
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6. Find the solution set of each of the following equations:

(a) (4 points) e 3.

2
ez g =0 --- l\pr

—4“-%7621'7:*‘66,1;0'
»(Qx"?'><c,’(+ 1) =0 --- 2 f"}i

=2n'-7- - - ‘(1’::

(b) (3 points) Inz = %ln <2xv+ g) + lln 2.
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7. (3 points) Find the value of (v/3)l84/1083 4 jog , —— 5
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, find the complementary and supplementary .
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8. (2 points) If 6 = 0.5 radian
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Find the largest negative angle that is coterminal to § = —975°,

9. (3 points)
mine the quadrant where the angle @ terminates.
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10. (a) (1 point) Convert ?W radians to degrees.
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Find the angular speed in radian per second of a wheel

(b) (2 points)
rotating at 50 revolutions per minute.
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11, Let f(z) = —gsin%az.

(a) (1 point) Find the period of f.

Cyied = 2T _ -2 Vet

(b) (1 point) Find the amplitude of f.
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(c) (2 point's) Sketch the graph of f over the interval 6 <z<6.
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12. (2 points) Find the length of an arc that subtends a central angle of 120°
in a circle of radlus 10 centimeters.

| 2
O=26xIL =21 .- 1p¢
Y 7S 3 -
E

S=reg = /Ox__éz;_ﬁ;‘# :_?.Qmﬂ-cm Ehdaie j/t

- S 3
( -4 B ot w/;%’/v om%) /

= Joem |

2



VIA L LL VU4 1unnuve 1 \ AVl v
J \\
13. (4 points) The angle of depression to an object A on one side of a road,
measured from a baloon 2500 feet above the road, is 45°. The angle of
depression to an object B on the opposite side of the road is 30°. Find
the distance between A and B '
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14. (2 points) Given that sinf = 4 and tanf < 0, find secd.
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15. (3 points) Find sinf# + cosf where 6 is an angle in standard position
whose terminal side contains the point P(—3, 2).
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16- (4 points) Find the value of 2sin210°+4éos405° V3 tan(~3007).
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7. (3 points) If W is the wrapping function, then find W< 52) ) i
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18. (4 points) Write the expression :
’ sect +tant 1+ cost

as a single trigono-
metric function.
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